Factor by Grouping 		Extra Practice
Factor by Grouping 		Homework
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Completely factor the following expression:
X3y +3x° +y

‘Which expression is equivalent to
Xyt -16)-9(x* - 16)?

D x"y*—16xy* —ox* — 144

2) @ -9 +2)]’(x-2)

3) @y +3)*y -3 +2) (x-2)°
4) (Y 3’y -3+’ -4)
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What is the completely factored form of
k* =4k + 8k =32k + 12k - 48?

1) (k=2)k—-2)(k+3)(k+4)

2) (k-2)(k-2)(k+6)(k+2)

3) (k+2)(k-2)(k+3)(k+4)

4)  (k+2)(k-2)(k+6)(k+2)

The completely factored form of

n* —9n” +4n® —36n - 12n” + 108 is
) #-9n+6)(n-2)

2) (n+3)n-3)(n+6)(n-2)

3) (n=3)(n-3)(n+6)(n-2)

4) (n+3)n-3)(n-6)(n+2)
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Homework

(a) 3x’ +2x? —27x-18 (b) 18x° +9x? —2x—1

(¢) X’ +4x’ +2x7 +8 (d) 5x° +10x +20x + 40

Exercise #6: Consider the expression 2x’ +10x” + 7x+21. Explain the error made in factoring it. How can you
tell that the factoring is incorrect?

200 41007+ 7x421=22° (x45)+7(x+3)
=(207+7)(x+5+x+3)
=(207+7)(2x+8)




